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Relação do aço

S16 S19 S27

S46 3xS51 S53

S99

AÇO N DIAM
Q

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 153 78 11934

2 5.0 252 66 16632

3 5.0 9 72 648

CA50 4 6.3 117 139 16263

5 6.3 110 104 11440

6 6.3 128 114 14592

7 6.3 72 124 8928

8 6.3 88 94 8272

9 6.3 88 89 7832

10 6.3 87 99 8613

11 6.3 12 114 1368

12 6.3 12 119 1428

13 8.0 99 123 12177

14 10.0 62 VAR VAR

15 10.0 8 75 600

16 10.0 126 VAR VAR

17 16.0 4 121 484

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO

(kg)

CA50

CA60

6.3

8.0

10.0

16.0

5.0

787.4

121.8

247.7

4.9

292.2

192.7

48

152.7

7.6

45

PESO TOTAL

CA50

CA60

401

45

Vol. de concreto total (C-25) = 9.81 m³

Área de forma total = 73.64 m²
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